1)

2)

3y

4) -

5)

.Quadrati“c'FQpnuia: x =

- -Sum of roots is —— . ' _Product_._of,roots,ls,.gr o Average of roots is ~—- .

-First coordinate of vertex of parabola’ Y = ax® + bx + ¢ is-—=

FACTS EVERY GOOD MATHLETE SHOULD KNOW

~b+y/b? - 4ac

2a

‘Solving ax’ + bx + ¢ = 0

b’ -4ac < 0=  noreal roots 7
b’ - 4ac = 0 =  one double oot
_b2-4ac>0-_~>' two real roots. -

a ' : a 2a

2a

A) 'log‘ACQ= T& AT =C o - E) . log AB= B (log A)

wio

toge A

B) logaC=r_ . E) . log ¥/AS = 10g Al .ég(togA)w '

loge b

C) log(A*B) =logA + logB G) ‘logab =-28c®

loggoa

D) log (%) = log A - log B

30° - 60° - right triangle

45° - 45° - ﬁght'tﬁangle




F'a;c_:‘ts

Page 2

6)

7)

| a2 b o
.Simil-ar triangles:: % == =_f_

Slope: m =

YZ_YI :
X, —%

- Slope of Y =-mx + b is i and Y-interceptis b~ - ¢

‘Slope:of AX + BY =C is _%{;and Yeinitercept is g

: Sk’)p‘es of ,pafﬁlél 'liné.s"'ﬁre' equal if 'slbﬁes are defined .

9.).

Slopes: of perjpendlcular lmes are negatWe reclprocals 1f slopes deﬁned

Slope of a vertlcal line i is undeﬁned |

-Aﬁfhmetie-.prngeSSibn. or*sequen‘cc::l Any two terms have same.difference - .

Tl, T1 +d, T1 + 2d, Tl +. 3(1; T1 + 4d, o

any term - T,.=T + -'(h'- 1)d

’.:!
-]

2

N

-Sum of'n terms: . Sa [TI + T,.] or. ——[2T| + (n - l)d]

Geometric progression or sequence; Any two terms have same ratio -

y oo

Ti; Tir; Tyr?; Tred: Torts

) Anyierm:"-_ T, = T. o !

10.)

Sumof n terms: S, =IL(11£_) OR. S, = T-reT,
I-r ' 1-r
o . ‘ Lo . . ‘-— Ti- . ‘-
Sum.of infinite G.P.; S'= 1 if lri<l1
- | cder

Arithmetic mean ofa and b is 2 ; b '

Geometric mean of aand bis vasb -
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1Ly ‘Number written in base r
123 4-5; :> ler*+2er?+ 3 or? # 4r'+ 'S-r__'o :

il 123, = e 4 4204 + 304 =164 8+3 =27

C 12) * Know méthod for changing reﬁéaﬁhﬁdé'ciniéiftd afraction .
el 100N =191
9N =91
91

‘13..);' Pythagoreaxi _T.ﬁeorém : L oatw = 02 o

Also midpoint of'hypotenuse.:ié equidistant ﬁ'omrall'tﬁree vertices ©
14)  Area: Equilateral A: A= z\/?: : Regular Polygon:. A = anp

Trapezc)id: A =:;'—h('b|- + bz) S _7 A= abdfhém

-p = peérimeter

' :Rhorr.xb'us.; , = —:-21- d, s-dy
Citcle: A =ar

Sphere : ' A,=ﬁ 4111;r-z-,:- o

Cone:. . A=nl+2mif (¢ isslantheight)

Cylinder: A

Il

2P+ 2 nrh
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15)  Volume:

Piism :
Cylinder

Pyramid *

st

v

Cone: .

<

v

i

Bh

nrh.

.3 :

W[
R

Lo oh

B = Areaofbase

: Cube Lo

B 4 ]

-_'71 |
B—E(X-Y)_

o 9 =90° 1fﬁlsdlameter . a(a + b) = C(‘C.-'}' d)

w@ry=< Caso

radius | tangent
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“17-',)-.‘.A .V

él .42+43

o OPPOSIteangIesofmscnbed e L ) ,.Extenor angle = Sum of remote_;i”‘ .

" "quadrilateral are supplementary . -

sy
'Surn of extenor angles of an n gon is 360°
o Each mtenor angle of ar egular n- gon 1s
el 360
Each exterior angle of a regular n - gon' is —

o 19.)',,

Sum of mtenor angles of'a an n- gon is 180(n - 2) | K

80(n 2)
n,

1) . Sumofany 2 sides of tridngle is greater than 3rd side

L 526.“)!;_} .

any

A medlan lS segment from vertex of tnang]e drawn to mldpomt of opposite snde
_ Factormg

Ry k)

EE S i "(x.-'f' NE + xy?-f)- :

-_"x3'+y * YRy + y)

X+ y2 1spnme '
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722;) The area of'aaeom'/ex' n '-"g'on: thh vertices (x.l',"‘y:'):‘f, (x2, y2), (s, Yz) . (X ¥n) s

L lan] Toewl] sl

‘ x4 Y4 N

“ Determinant symbol ..

©023). Insimilar polygons: A=(SLye
-' In snmlarsollds ' ——V—= 2Ly e

24y The numbers 1 and 51 are Tiot: pnme' o

25y Ifx" B3 thenX =0 and Y = 0 or X = s and Y : R or x 1 andY

even g

26)  The. number of permutatxons of n diﬁ‘erent obje s‘,lsl it That 15 P =nl

L )| that 1s
n-—-r

27) The number of permutatlons of T ob_lects selected from n dlﬁ‘e?en@bgects is

T (n—nr

' 28 ‘) The number of permutations of nn ob_]ects not all dlfferent aof one type & of another type, -

a!blci

‘c of a 3rd type ete. is -

- 29) The number of combmatlons of T ObJCCtS selected from n- different objects is (_n_r that IS o
S n-rjlgl .

(=it
30 Kno'w-' differéncebet‘\i:een ‘r_nean;_-rnediéin; -and inode.
31.) cos(a T B) -cos a: cos B + sin—a 'sin B

sin (a 'J: B) = sin‘acos B * cos S & sin B



